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5 ways to find intercepts, zeros, roots, and solutions

1. Square Root - Vertex form or Standard form and
no “b value”

2. Graphing - Approximations

3. Quadratic Formula - Standard form and
b2 - 4ac=perfect square
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4. Completing the Square - Standard form “a value is 1”

and “b value is even”
5. Factoring - Standard form and b? - 4ac = perfect
square




9 Types of Factoring

1. GCF

2. GCF complete factoring

3. Quadratic Trinomial (Trial and Error)
4, Perfect Square Trinomial (v —4ac = 0)
5. Difference of 2 Squares (__+__)

6. Sumof2 Cubes (__+_ )(__ -+ )

7. Difference of 2 Cubes (__-_ )(__+

8. Graphing (4 terms)

9. Unfactorable



